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Question No : 1

Given:

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

public class CreditCard {

private String cardID;
private Integer limit;

public String ownerName;

public void setCardInformation(String cardID,
String ownerName,

Integer limit) {

this.cardID = cardID;

this.ownerName = ownerName;

this.limit = limit;

}

}

Which statement is true?

A. The ownerName variable breaks encapsulation.

B. The class is fully encapsulated.

C. The cardID and limit variables break polymorphism.

D. The code demonstrates polymorphism.

E. The setCardinformation method breaks encapsulation.

Answer: A

Question No : 2 DRAG DROP

Click the Task button.
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Given: HumberNamnes nn = new HumberNames():

nn.put{"one", 1):

Sy=tem.out .println({nn.getHanes());
Flace the code into position to create a class that maps from Strings to integer values.
The result of execution must be [one]. Some options may be used more than once.

public class HumberHames {
private HashMap<]| Placehere | . [ FPlacehere | » map =

new HashMap<| Placehere | . [ Flacehere | [ Placshere |

public void put(String name. int valus) {

map.put(| Flace here | 2 | Flace here | 1
i
public | Flace here | getHamesi) {
return map. kevSet{):
i
s
[ String ][ Integer || int | | : |
[ S | | name | | value || nap |
[ Seteint: | [ SetcInteger: | [ HazhSet |
[ Get:iInteger String: | [ Set<int. String: | [ Set:{String. Integery |
Dane
[ S=t<String. int: || Set<String> | | HumberHanes |
Answer:

Given: HumberFNames nn = new NumberNames():

nn.put{"one", 13):

Sy=stem.out . printlni{nn.getHane=s());
Flace the code into position to create a class that maps from Strings to integer values.
The result of execution must be [one]. Some options may be used maore than ance.

public class HumberHames {
private HashMap«| namne | . | Map [ » map =

new HashMap<| value | . | i) || String

public void put(String name. int values) {
map . put (f 3 | - | int | »:

T

public | SetiTnteger Stringy | getHame=() {
return map. keySet ()

I
¥
| String | Integer | int |
2 HATE | walus T map |
Setiint > Set<Integer: | HashSet
| Set<Integer, String: | Seteint. String: | | Set<String. Integer:
Set¢String. dint: Set¢String: | HumberHames

Question No : 3 DRAG DROP

Click the Task button.
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The image at right represents a complete package structure
for a set of classes: "com” is the beginning of the fully-
gualified package name for all classes.

Given this package structure, insert the code needed to make
the Car class compile and run successfully.

All three placehalders must be filled. If fewer than three
staterments are needed, use the " blank" option.

| Flace here |

‘ Flace here |

‘ Place here |

public class Car
Book book:;
Dog dog:

I com
— 1 oo
) bar
L [E] Do chass
12 hlat
@ Book.class

I har
|— @ Car.class
L*;EhHE

L. [E] sun class

|impDrt con . foo . bar blatz #*:

package com. foo bar blatz;

inport comn. bar . *; import Con. *;

package com;

| package com.bar;

import com. foo. *; <« blank
inport com. foo bar. #*; inport com.foo. bar. Boolk: | Done I
The image at right represents a complete package structure
oon n 1 H J Cl:lm
for a set of classes: "com” is the beginning of the fully- _
gualified package name far all classes. — 2 foo
Given this package structure, insert the code needed to make ) bar
the Car class compile and run successfully. | e
All three placeholders must be filled. If fewer than three @ 05 s
staterments are needed, use the " blank" option. I blate
package com. bar: | @ Book class
package com.foo.bar blatz: _Tiihm
@ Car.class

inport com.foo. bar. Boolk: I

public class Car o
Boole bool:;
Dog dog:

L

I biat

|— @ Sun class

inport com. foo. bar blatz =

import com.bar . *; import Com. %*;

packages cDm_fDD"bar"blatz;|

package com.bar:; package com:

inport com. foo. *; o blank

inport com. foo bar #*:

Question No : 4

Which three statements concerning the use of the java.io.Serializable interface are true?

inport com. foo bar . Bool

Done
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(Choose three.)

A. Objects from classes that use aggregation cannot be serialized.

B. The values in fields with the transient modifier will NOT survive serialization and
deserialization.

C. Itis legal to serialize an object of a type that has a supertype that does NOT implement
java.io.Serializable.

D. The values in fields with the volatile modifier will NOT survive serialization and
deserialization.

E. An object serialized on one JVM can be successfully deserialized on a different JVM.

Answer: B,C,E

Question No : 5

Which two code fragments will execute the method doStuff() in a separate thread? (Choose
two.)

A. new Thread() {

public void start() { doStuff(); }

I3

B. new Thread() {

public void run() { doStuff(); }

I3

C. new Thread(new Runnable() {
public void run() { doStuff(); }
}.start();

D. new Thread() {

public void start() { doStuff(); }
}.run();

E. new Thread(new Runnable() {
public void run() { doStuff(); }
B.run();

F. new Thread() {

public void run() { doStuff(); }
}.start();

Answer: C,F

Question No : 6
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Given:

12. import java.io.*;

13. public class Forest implements Serializable {

14. private Tree tree = new Tree();

15. public static void main(String [] args) {

16. Forest f = new Forest();

17. try {

18. FileOutputStream fs = new FileOutputStream("Forest.ser");
19. ObjectOutputStream os = new ObjectOutputStream(fs);
20. os.writeObject(f); os.close();

21. } catch (Exception ex) { ex.printStackTrace(); }

22.}}

23.

24. class Tree {}

What is the result?

A. An exception is thrown at runtime.

B. An instance of Forest is serialized.

C. An instance of Forest and an instance of Tree are both serialized.
D. Compilation fails.

Answer: A

Question No : 7

Given:

1. interface TestA { String toString(); }

2. public class Test {

Wwww.ensurepass.com



Dumps with VCE and PDF (+Free VCE Software)
3. public static void main(String[] args) {
4. System.out.printin(new TestA() {

5. public String toString() { return "test"; }

6. });
7.}

8.}

What is the result?

A. null

B. An exception is thrown at runtime.

C. Compilation fails because of an error in line 5.
D. Compilation fails because of an error in line 4.
E. Compilation fails because of an error in line 1.
F. test

Answer: F

Question No : 8 DRAG DROP

Click the Task button.

Given: HumberNames nn = new HumberNames():

nn.put{"one", 1);

System. out . printlni{nn. getHames{));
Place the code into position to create a class that maps from Strings to integer values.
The result of execution must be [one]. Some options may be used mare than once.

public class HumnberNames {
private HashMap<| PFlacehere | . [ Flacehere | » map =

new HashMap<] Placehere | . [ Placehere | [ Flacehere |

public wvoid put{String name, int walue) {
map. put ([ Placehere | . [ Placehere | J:
I
public | Place here | getHames() {
return map. keySeti);
K
H

String | [ Integer || int | | : |

= | | RANE | | valus | | nap |

|
|
| Setsint | | Setslnteger: | | Ha=zhSet |
|
|

Set<Integer.Stringy | [ Set<int. String: | [ Set<String Integer: | -
Dane
1 1 e

Set<String,. int: Set{String: HunberHanes
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Answer:

Given: HumberFNames nn = new HumberNames():
nn. put{"one", 1);
Sy=ten.out . println(nn.getHames({));

Flace the code into position to create a class that maps from Strings to integer values.
The result of execution must be [one]. Some options may be used more than once.
public cla==s HumberHame=s {
private HashMap<| namne | | map | > map =
new HashMap« “walus ] | A N

public woid put{String name, int walue) {
map.putd#l . int IBE
K
public [Set<Integer. String: | getHamss() {
return mnap. keySet);
1
H

[ Stzing | [Tateger | [ int |1 & I
L 20} | =] e ] | nap |
| Seteints 1 | Set¢Integer: 1] HashSet |

|_Set<String, int: || Set<String; N HunberNanes |

Question No : 9

Given:

H

. public class Boxerl{
2. Integer i;

3.intx;

4. public Boxerl(inty) {
5. X = i+y;

6. System.out.printin(x);

8. public static void main(String[] args) {
9. new Boxerl(new Integer(4));
10.}

11.}
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What is the result?
A. Compilation fails because of an error in line 5.
B. A NullPointerException occurs at runtime.
C. Compilation fails because of an error in line 9.
D. A NumberFormatException occurs at runtime.

E. The value "4" is printed at the command line.
F. An lllegalStateException occurs at runtime.

Answer: B

Question No : 10

Given:

10: public class Hello {
11: String title;

12: int value;

13: public Hello() {

14: title +=" World";
15:}

16: public Hello(int value) {
17: this.value = value;
18: title = "Hello";

19: Hello();

20: }

21:}

and:

30: Hello ¢ = new Hello(5);

31: System.out.printin(c.title);
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What is the result?
A. The code runs with no output.
B. Hello
C. Hello World 5
D. Compilation fails.

E. An exception is thrown at runtime.
F. Hello World

Answer: D

Question No : 11

Given:

10. class Line {

11. public class Point { public int x,y;}

12. public Point getPoint() { return new Point(); }
13.}

14. class Triangle {

15. public Triangle() {

16. // insert code here

17.}

18.}

Which code, inserted at line 16, correctly retrieves a local instance of a Point object?

A. Point p = (new Line()).getPoint();

B. Line.Point p = Line.getPoint();

C. Point p = Line.getPoint();

D. Line.Point p = (new Line()).getPoint();

Answer: D
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Question No : 12

Given:

11. // insert code here

12. private N min, max;

13. public N getMin() { return min; }

14. public N getMax() { return max; }

15. public void add(N added) {

16. if (min == null || added.doubleValue() < min.doubleValue())
17. min = added,;

18. if (max == null || added.doubleValue() > max.doubleValue())
19. max = added,

20. }

21.}

Which two, inserted at line 11, will allow the code to compile? (Choose two.)

A. public class MinMax<?> {

B. public class MinMax<N extends Object> {
C. public class MinMax<N extends Integer> {
D. public class MinMax<? extends Object> {
E. public class MinMax<N extends Number> {
F. public class MinMax<? extends Number> {

Answer: C,E

Question No : 13

A developer is creating a class Book, that needs to access class Paper. The Paper class is
deployed in a JAR named myLib.jar.

Which three, taken independently, will allow the developer to use the Paper class while
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compiling the Book class? (Choose three.)
A. The JAR file is located at $JAVA HOME/jre/classes/myLib.jar.
B. The JAR file is located at /foo/myLib.jar and the Book class is compiled using javac -d
/foo/myLib.jar Book.java
C. The JAR file is located at /foo/myLib.jar and a classpath environment variable is set that
includes /foo/myLib.jar/Paper.class.
D. The JAR file is located at $JAVA_HOME/jre/lib/ext/myLib.jar..
E. The JAR file is located at /ffoo/myLib.jar and the Book class is compiled using javac -
classpath /foo/myLib.jar Book.java
F. The JAR file is located at /foo/myLib.jar and the Book class is compiled using javac -cp
/foo/myLib.jar/Paper Book.java.

G. The JAR file is located at /foo/myLib.jar and a classpath environment variable is set that
includes /foo/myLib.jar.

Answer: D,E,G

Question No : 14

Given:

10. public class SuperCalc {
11. protected static int multiply(int a, int b) { return a * b;}

12.}

and:

20. public class SubCalc extends SuperCalc{
21. public static int multiply(int a, int b) {

22. int ¢ = super.multiply(a, b);

23. return c;

24.}

25.}

and:
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30. SubCalc sc = new SubCalc ();
31. System.out.printin(sc.multiply(3,4));

32. System.out.printin(SubCalc.multiply(2,2));

What is the result?

A. Compilation fails because of an error in line 31.
B. The code runs with no output.

C.12

4

D. Compilation fails because of an error in line 22.
E. An exception is thrown at runtime.

F. Compilation fails because of an error in line 21.

Answer: D

Question No : 15

Given:

12. NumberFormat nf = NumberFormat.getinstance();
13. nf.setMaximumFractionDigits(4);
14. nf.setMinimumFractionDigits(2);
15. String a = nf.format(3.1415926);

16. String b = nf.format(2);

Which two statements are true about the result if the default locale is Locale.US? (Choose
two.)

A. The value of ais 3.1415.
B. The value of ais 3.14.
C. The value of a is 3.141.
D. The value of b is 2.

E. The value of b is 2.0000.
F. The value of a is 3.1416.
G. The value of b is 2.00.
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Answer: F,G

Question No : 16

Click the Exhibit button.

Which statement is true about the two classes?

someException:

1. public cla=s=s SomeException {

2.1

Class A

1. public clas=s A {

2 public woid doSomething() { }

3. ok

Class B:

l. public cla==s B extends & {

L public woid doSomethingl() throws
SomeException {

I

A. Compilation of class B will fail. Compilation of class A will succeed.
B. Compilation of class A will fail. Compilation of class B will succeed.
C. Compilation of both classes will fail.

D. Compilation of both classes will succeed.

Answer: A

Question No : 17

Given:

11. class ClassA {}

12. class ClassB extends ClassA {}
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13. class ClassC extends ClassA {}

and:

21. ClassA p0 = new ClassA();
22. ClassB pl = new ClassB();
23. ClassC p2 = new ClassC();
24. ClassA p3 = new ClassB();

25. ClassA p4 = new ClassC();

Which three are valid? (Choose three.)

A. p2 = p4,;
B. p2 = (ClassC)p1;
C. p0 =p1;
D. p2 = (ClassC)p4;
E. pl=p2;

F. pl = (ClassB)p3;

Answer: C,D,F

Question No : 18

Given this method in a class:

21. public String toString() {
22. StringBuffer buffer = new StringBuffer();

2

w

. buffer.append('<');

2

D

. buffer.append(this.name);

2

ol

. buffer.append('>");
26. return buffer.toString();

27.}
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Which statement is true?

A. This code will perform well and converting the code to use StringBuilder will not enhance
the performance.

B. This code will perform poorly. For better performance, the code should be rewritten:
return "<" + this.name + ">";

C. This code is NOT thread-safe.

D. The programmer can replace StringBuffer with StringBuilder with no other changes.

Answer: D

Question No : 19 DRAG DROP

Click the Task button.

Flace the code elements into the class so that the code compiles
and prints "Run. Fun. dolt" in exactly that order. Mote that there
may be maore than one correct solution.

public class TesTwo extends Thread

public =tatic wvolid main (String[] a) throws Exception {
TesTwo t = new TesTwol):
t.=tart();

| Place here |

| Flace here |

| Flace here |

public void runf)
Sy=ztem.out print{"Run. "):

¥
public wvoid dolt() {
Sv=tem.out print{"dolt. "};

¥
¥
[ t. staxt(): || t.join(): | |t.paus={10):]| runil; |
[ emanis | [ aEeTECTs 0 | 4aTiiT; |
Dane
Answer:
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Flace the code elements into the class so that the code compiles
and prints "Run. Fun. dolt." in exactly that order. Mote that there

may be more than one correct solution.

public clas=s TesTwo extend=s Thread
public =tatic wvoid main (String[] a) throws Exception {

TesTwo t = new TesTwol):
t.=tart();

I eadaTiiiy:
|t pause(10): |
e rant § B |

¥

public woid runi) {
Sv=stemn.out . printf "Eun. ")

T
public void dolti) {
Sv=ten.out . print(“dalt. "I

¥
¥

| t.startl); || t.joinf); |t . pause{l0); runf); |

e T e £ odolt(); ] doE { i

Clone

Question No : 20

Click the Exhibit button.

What two must the programmer do to correct the compilation errors? (Choose two.)
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1. public cla==s Car {
2. private int wheslCount
3 private String win;
4. public Car(String win) {
5. thi=z.vin = win;
b . thi= . wheselCount = 4
o
g . public String driwve() {
H return "zoom—zoomn"
10. T
0 50 & public String getlnfol)
12, return "VIH: " + wvin + " wheesl=s: "
whesl Count ;
13. T
14. 7}
And
1. public claszs Mebo extends Car |
2. public MeGol(String vin)
3. thi=z. wheelCount = 3;
4 h
B

A. change the wheelCount variable in Car to protected

B. insert a call to this() in the MeGo constructor

C. insert a call to this() in the Car constructor

D. insert a call to super(vin) in the MeGo constructor

E. insert a call to super() in the MeGo constructor

F. change line 3 in the MeGo class to super.wheelCount = 3;

Answer: A,D

Question No : 21

Given:

31. // some code here
32.try {
33. // some code here

34. } catch (SomeException se) {
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35. // some code here
36. } finally {
37. // some code here

38.}

Under which three circumstances will the code on line 37 be executed? (Choose three.)

A. The code on line 35 throws an exception.
B. The instance gets garbage collected.

C. The code on line 31 throws an exception.
D. The code on line 33 executes successfully.
E. The code on line 33 throws an exception.

Answer: A,D,E

Question No : 22

Given:

10. public class ClassA {
11. public void count(int i) {
12. count(++i);

13.}

14.}

And:

20. ClassA a = new ClassA();

21. a.count(3);

Which exception or error should be thrown by the virtual machine?

A. StackOverflowError
B. NullPointerException

Wwww.ensurepass.com



Dumps with VCE and PDF (+Free VCE Software)

C. ExceptioninlinitializerError
D. lllegalArgumentException
E. NumberFormatException

Answer: A

Question No : 23

Given:

1. public class Threads4 {

2. public static void main (String[] args) {
3. new Threads4().go();

4.}

5. public void go() {

6. Runnable r = new Runnable() {
7. public void run() {

8. System.out.print("foo");

9.}

10. };

11. Thread t = new Thread(r);

12. t.start();

13. t.start();

14.}

15. }

What is the result?

A. The code executes normally and prints "foo".
B. An exception is thrown at runtime.
C. The code executes normally, but nothing is printed.
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D. Compilation fails.

Answer: B

Question No : 24

Given:

11. class Animal { public String noise() { return "peep"; } }
12. class Dog extends Animal {

13. public String noise() { return "bark”; }

14.}

15. class Cat extends Animal {

16. public String noise() { return "meow"; }

17.}

30. Animal animal = new Dog();
31. Cat cat = (Cat)animal;

32. System.out.printin(cat.noise());

What is the result?

A. Compilation fails.

B. meow

C. bark

D. An exception is thrown at runtime.
E. peep

Answer: D

Question No : 25
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Which two statements are true? (Choose two.)
A. An encapsulated class allows subclasses to overload methods, but does NOT allow
overriding methods.
B. An encapsulated, public class promotes re-use.
C. An encapsulated class allows a programmer to change an implementation without

affecting outside code.
D. Classes that share the same interface are always tightly encapsulated.

Answer: B,C

Question No : 26

Given:

1. public class MyLogger {

2. private StringBuilder logger = new StringBuuilder();
3. public void log(String message, String user) {

4. logger.append(message);

5. logger.append(user);

6.}

7.}

The programmer must guarantee that a single MyLogger object works properly for a multi-
threaded system.

How must this code be changed to be thread-safe?

A. replace StringBuilder with StringBuffer

B. No change is necessary, the current MyLogger code is already thread-safe.

C. replace StringBuilder with just a String object and use the string concatenation (+=)
within the log method

D. synchronize the log method

Answer: D
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Question No : 27

Given:

9.

. class ClassA {
. public int numberOfinstances;
. protected ClassA(int numberOfinstances) {

. this.numberOfinstances = numberOfinstances;

}
}

. public class ExtendedA extends ClassA {

. private ExtendedA(int numberOfinstances) {

super(numberOfinstances);

10.}

11. public static void main(String[] args) {

12. ExtendedA ext = new ExtendedA(420);

13. System.out.print(ext.numberOfinstances);

14.}

15. }

Which statement is true?

A. Constructors CANNOT use the private modifier.
B. All constructors must be declared public.

C. An exception is thrown at runtime.

D. Constructors CANNOT use the protected modifier.
E. 420 is the output.

Answer: E

Question No : 28 DRAG DROP
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Click the Task button.

Flace code into the class so that it compiles and generates the output
answer=42. MNote: Code options may be used more than once.

Class
public class {
private object ; Code Options
public [Place here| ([Place here] object) {
thi= object = object:
b
public getObject () { Gen
return object
;
public static volid maini(String[] args) {
Gen<String: =tr = nev Gen<String:("answer"):
Gen<Integer: intg = new Gen<Integer:(42):
Sy=tem.out . printlni{=str. getObjecti) + "=" +
intg.getObject{);
¥ Done
b
Answer:

Flace code into the class so that it compiles and generates the output
answer=42. MNote: Code options may be used more than once.

Class
public clas=s | i
private I GCen object ; Code Dptlons
public [Geniis] ([@en | obiect) { o
thi= . object = object; |Gen<?>—|
¥ —
public getObjiect () { Gen
return object -
3 |
public =tatic woid main(String[] arg=s) { | i
Gen<String: =tr = nevy Gen<String:("answer"):
Gen<Integer: intg = new Gen<Integer:(42):
Sy=tem.out . printlni{=str. getObjecti) + "=" +
intg.getObject{1);
¥ Daone
E,

Question No : 29

Given:
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static class A {
void process() throws Exception { throw new Exception(); }
}
static class B extends A {
void process() { System.out.printin("B"); }
}
public static void main(String[] args) {

new B().process();

}

What is the result?

A.
B.
C.
D.
E.

B
The code runs with no output.

ompilation fails because of an error in line 15.

C
Compilation fails because of an error in line 12.
C

ompilation fails because of an error in line 18.

Answer: A

Question No : 30 DRAG DROP

Click the Task button.
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Place the code into the GenericE class definition to make the class compile
successfully.

import jawa. util. *;

Code
public class GenericB<| Flace |> 1 | e |
public foo: | T extends Fet |
public woid setFu:n:I{ foo) { |? inplements Pet|
this. foo = foo:
T |T inplensnts Pet|

public getFool ) { Fet extend=s T |

return foo;

i

public static woid main (String[] args) {
GenericB<Cat> bar = new GenericB<Cat:():
bar . setFoo(new Cat{)): S
: Cat © = bar.getFool); Fet

¥

interface FPet {
zla=zs Cat implements Pet{ 1

Done

Answer:

FPlace the code into the GenericE class definition to make the class compile
successiully.

import jawa. util. *;

Code
public class GenericB< T extends Pst | » { e e
public foo; T extends Fet |
public woid setFn:u:u{- foo) { 7 inplemsent= Pet
thi=. foo = foo:
1 !T inplements Pet|

public getFool ) { Fet extend= T

return foo;

T 7
public static woid main (String[] args) { | i
GenericB<Cat: bar = new GenericB<Cat:({):
bar . setFool(new Cati)); S
; Cat o = bar.getFool); Fet

¥

interface Pet { 1}
zla==s Cat implements Pet{ 1

Done

Question No : 31 DRAG DROP

Click the Task button.
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Place each Collection Type on its function.
Mote: Mot all functions will be used.

Function Collection Type

provides array maripulation utiities

provides collection maripulation utilties

defines base methods for al array objects

defines base methods fl_:IF'a" cdlecﬁan.@hiéc"t_s

provides a concrete implementation of an ordered set

defines base methods for an ordered sat

defines methads for linear access ta a collection

defines methads for randam access to a callection

Answer:

Place each Collection Type on its function.
Mote: Mot all functions will be used.

Function Collection Type

Question No : 32

Click the Exhibit button.
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Which statement is true about the classes and interfaces in the exhibit?

public interface & {
public woid doSomething(String thing):

¥

LI )

public cla=s=s AImpl implement=s & {
public woid doSomething(String msg) {

L

L

public cla==s B {
public A doiti() {
A more code here

¥

public String execute() {
sS4 more code here

F

L e I o T N

;

public cla=s=s C extend=s B {
public AImpl doit() {
£ more code here

F

public Object execute() {
S« more code here

F

O 00 ] O OF  LO D

L

A. Compilation of class C will fail because of an error in line 6.

B. Compilation will succeed for all classes and interfaces.

C. Compilation of class C will fail because of an error in line 2.

D. Compilation of class Almpl will fail because of an error in line 2.

Answer: A

Question No : 33

Given:

31. // some code here
32. try {

33. // some code here
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34. } catch (SomeException se) {
35. // some code here
36. } finally {
37. // some code here

38.}

Under which three circumstances will the code on line 37 be executed? (Choose three.)

A. The code on line 33 executes successfully.
B. The code on line 35 throws an exception.
C. The code on line 33 throws an exception.
D. The instance gets garbage collected.

E. The code on line 31 throws an exception.

Answer: A,B,C

Question No : 34

Given:

11. public static void main(String[] args) {
12. String str = "null™;

13. if (str == null) {

14. System.out.printin("null”);

15. } else (str.length() == 0) {

16. System.out.printin("zero");

17. }else {

18. System.out.printin("some");

19.}

20. }
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What is the result?

A. Compilation fails.

B. An exception is thrown at runtime.
C. some

D. zero

E. null

Answer: A

Question No : 35

Click the Exhibit button.

What is the result?

11. cla=s= Per=on {

12. String name = "Ho name"

13. public Perzon(String nm) { name = nm;
14, }

15,

l6. cla==s Emploves extend=s Person {

17. String emplD = "0000";

138. public Emploves(String i1d) { emplD =
id; }

19. }

21. public cla== EmplovesTest |
22 public static voild main(String[] args)

A Employese & = new Emplovesi "4321");
24 System.out . printlnie.enplD):

25 . T

2B,

A. 0000

B. An exception is thrown at runtime.

C. 4321

D. Compilation fails because of an error in line 18.

Answer: D

Wwww.ensurepass.com



Dumps with VCE and PDF (+Free VCE Software)

Question No : 36

Given:

11. class A {

12. public void process() { System.out.print("A,"); }}
13. class B extends A {

14. public void process() throws IOException {

15. super.process();

16. System.out.print("B,");

17. throw new IOException();

18. }}

19. public static void main(String[] args) {

20. try { new B().process(); }

21. catch (IOException e) { System.out.printin("Exception"); }}

What is the result?

A. Compilation fails because of an error in line 14.
B. A,B,Exception

C. Exception

D. Compilation fails because of an error in line 20.
E. A NullPointerException is thrown at runtime.

Answer: A

Question No : 37

Click the Exhibit button.

What is the result?
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11. public clas=s Bootchy {

12, int bootch;

13. String snootch;

14 .

15 . public Bootchw() {

16 . thi=({"=nootchy"):

17. Sy=ztem.out .print{"first ")

18 T

19:

20 . public Bootchy(String snootch) {
21 . thi=(420, "snootchy"):

22 Sy=ztem.out . print( "second ")

23, T

24

25 . publizc Bootchy({int bootch., String
snootch)

26 . thi=z bootch = bootch;

27 thi=z. =nootch = shootch;

28. Sy=ztem.out .print{"third ")};

29 . T

an.

Fk: public =static void main(String[] arg=s)
1

32 Bootchy b = new Bootchwyi();

33 Sy=ztem.out . printi{b.snootch + " " +
b.bootch)

34 . 1

5. 7}

A. snootchy 420 third second first
B. first second third snootchy 420
C. third second first snootchy 420
D. snootchy 420 first second third
E. first second first third snootchy 420
F. third first second snootchy 420

Answer: C

Question No : 38 DRAG DROP

Click the Task button.
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Given:
1. import jawva.util .
2. zlass A 1
3. zlas= B extend= A { }
4. public clas=s Test {
5. public =tatic woid main(String[] arg=s) {
b . Li=t<A> li=td = new LinkedList<h:();
7. List<B: li=tB = new LinkedLi=st<B:();
g . List<0Object: li=t0 = new LinkedList<0Object:{):
9. <4 inzert code here
10.
11. public =tatic woid ml(Li=t<? extend=s Ar list) { T
12. public =static wvoid n2{List<A> li=st) { }
13 %

Flace a result onto each method call to indicate what would happen if the method call
were inserted at line .
Maote: Fesults can be used mare than once.

Method Calls Result
| ml(listd): || m2(listh): e 3 Does riot campile. |
| ml(listh); || m2(listh); || Compies and runs without eror. |
| ml(list0); || m2(1ist0); | [Anexception s thrawn at ntime. |

Answer:
Given:
1. import jawva.util .
2. zlass A 1
3. zlas= B extend= A { }
4. public clas=s Test {
5. public =tatic woid main(String[] arg=s) {
b . Li=t<A> li=td = new LinkedList<h:();
7. List<B: li=tB = new LinkedLi=st<B:();
g . List<0Object: li=t0 = new LinkedList<0Object:{):
9. <4 inzert code here
10.
11. public =tatic woid ml(Li=t<? extend=s Ar list) { T
12. public =static wvoid n2{List<A> li=st) { }
13 %

Flace a result onto each method call to indicate what would happen if the method call
were inserted at line .
Maote: Fesults can be used mare than once.

Method Calls Result
| tDWﬁ“ESEHdTUHSW“hDUtE”DL || tuwmﬂesandrunswﬂhuulenDL " [loez not compile.
| Compiles and runs without eror. " Dioes not conmpile. I Compiles and runs withaut eror.
[loez not compile. | | [loez not compile. I |.f3.n exception iz thrown at runtime. |

Question No : 39

Given:
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11. public static Collection get() {
12. Collection sorted = new LinkedList();
13. sorted.add("B"); sorted.add("C"); sorted.add("A");
14. return sorted;
15.}
16. public static void main(String[] args) {
17. for (Object obj: get()) {
18. System.out.print(obj + ", ");

19.}

20. }

What is the result?

A. Compilation fails.

B.B, C, A,

C. An exception is thrown at runtime.
D. The code runs with no output.
E.A B,C,

Answer: B

Question No : 40 DRAG DROP

Click the Task button.
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Place the Fragments into the program, so that the program will get lines from a text file,
display them, and then close all the resources.
Program

g Code Fragments
import java.io. *

[Buf feredReader|

public zlass ReadFile {

public static woid main(String [] args) { [ StreanReader ]
[ FileReader |

try {
File = new File( "MyText t=t"): | readLine |

Flace here = new Flace here (=ly:

Flace here E: = new Place here ®2): | readln |
String =3 = null; | read |
while {{ =3 = | Place here |()j l= nall) { _

Sy=tem.out . println{=3}; | closeFile |
k) | Place here [i 3
} cafch(Ezception ex; 1 | close |

ex.printStackTrace();
i
T

} Dot |

EH
eyl =
EH

A

Answer:

Place the Fragments into the program, so that the program will get lines from a text file,
display them, and then close all the resources.
Program

g Code Fragments
import java.io. *

|BufferedReader|

public cla=s=s ReadFile {

rublic =static wold main(String [] args) { Streankeader

FileFeader |

try

File [E8]- new File{"MyTe=xt t=zt"); Tt
[ readline =3 = new | readln (=l):
Buf feredReader| =% & DEV closeFile (=2} readln
String ®3 = null. read
while (({ =3 = =2| [ StreamBeader |(3) != null) { )
System mut mrintini=xd); clozeFile |
1 ﬁj FileReader |():
¥ n:a(h':;n:eptlcnn =] 1 close |
: ex.printStackTrace(): [%El |32
F 33| =4

} Dione |

Question No : 41 DRAG DROP

Click the Task button.
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Given:

claz=s 4 {
String name = "A":
String getHams() {
return namne;
T
String greeting(){
return "class A":

cla== B extends A4 {

String nams = "B";
String greeting() o
return “"claszs B":

I

1
public clas=s Client {
public =tatic void maini( String[] args ) {
A oa = new A():
A b = new B():
Sy=sten.out .printlni{a.grestingi) + " has name " + a.getHame());
Sy=stemn.out . printlni{b.greetingf{) + " ha= name " + b.getHame{)):

¥
T
class has nans
class has nane
MNames to be moved -
IIIﬁHHaII
T
Answer:
Given:
clas=s A&
String name = "A":

String getHams() {
return namne;

String greetingf(){
return "class A":

cla== B extends A4 {

String name = "B":
String gresting()
return “"claszs B":

I

T
public clas=s Client {
public =tatic void maini( String[] args ) {

A oa = new A():

A b = new Bi});
Sy=sten.out .printlni{a.grestingi) + " has name " + a.getHame());

Sy=stemn.out . printlni{b.greetingf{) + " ha= name " + b.getHame{)):

¥
b

class has nene
class has nane

MNames to be moved

A |
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